Notes 8.5 Area of Composite Figures ) —‘

Find the Area of a Composite Figure ]

A composite figure is made up of two or more shapes. To find the area of a composite
figure, decompose (separate) the figure into shapes with areas you know. Then find the
sum of these areas. ;

Shape Words Formula
Parallelogram The area, A, of a parallelogram is
the product of any base, b, and A = bh
its height, h.
Triangle The area, A, of a triangle is half
the product of any base, b, and g —l-bh
its height, h. -
Trapezoid The area, A, of a trapezoid is

half the product of the height, h,
and the sum of the bases,

Circle The area, A, of a circle is equal
to m times the square of the A=mnr
radius, r.

parallelogram half of a circle or semicircle :
trapezoid

™ rectange o a:
square triangle
Example 1: Find the@af the composite figure. S
The figure can be separated into two rectangles. .
Rectangle A Rectangle B 5
Azlw Aslw tm| B
A=3-2 A=4-5 v
A=6cm? A = 20 cm? -

Total Area = Area A + Area B

Total Area = 6 + 20 = 26 cm?
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Example 2: Find the ia_rEﬁ|of the composite figure.

The figure can be separated into a rectangle and a triangle. ,,

Rectangle Triangle
/4:-4-9'” j A; _la—(bh) 14:::11 8 cm
et A% (510)
= leBem J A (3¢)
e e "'1
A 4gom
|C}Jru::.'l Aceq = ico%w{% _ L ..........
l ng(qii A'ffiil- guoC{ﬂ_J
E.mmpe 3: Find the|drea (of the composite figure. :
The figure can be separated into Efe_ml-:lrcle] 6me
and &\T’lungle Round to the|nearest tenth. h

Mm

Area of semicircle Area of triangle

A= lnr? A=21bh

A=-me 3 Bm A=2e1146 aml—‘\
Ag%.n.g A=33m? 11m

A =~ 14.137

A=141m?

The area of the figure is about 14.1 + 33 or 47.1 square meters.
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Example 4: |Two congruent triangles are cut from a
rectangle. Find the\area of the Ehacled

() LargeReckogle  (2) 2 Trangles

Azdeu) A=%(bh) >

e tele) A-5(5:0) 3

j Az Hidin A= (45)2
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